Die 1er - Reihe Uben (Multiple-Choice)

Das kleine Einmaleins

. 4 e«1= (0 2 o9 O 4 () 10
2. 1«1="0O 5 O 6 O 2 (O 1
3. 51= (0O 1 O 3 O 9 (O 5
49 1= (O 4 O 9 O 10 (O 8
5. F 1= (O 10 O 2 3 o7
6 5 e1= () 4 (O 1 (O 5 () 10
i1e1= 0O F O 4 O v O 3
Aufgabe 2

13 1= 0O 3 O 1 O 8 (O 4
2 3 «1= () 3 ()10 O 4 () 8
5310 e1= O 1 O w0 O F 0O 2
4.5 «1= () 10 o7 5 2
501 1= (0O 1 O ¥ O 5 (O 2
6 F e1= 0O 3 O 1 O 4 (O 7
79 1= () 9 (O 8 () 3 () 6
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1er - Reihe iiben (Multiple-Choice) | ANTWORTEN

Das kleine Einmaleins

41 - () 2 09010
)1 e1= O 5 O 6 O 2 @ 1
5 5.1=0O 1 O 3 O 9 |@ 5
49-1=Q4Q10 o8
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6 5e1= (O 4 O 1 |@ 5| (O 1
o1 et = O 4 ® ) 3
Aufgabe 2

1 3 +1=-|@ 3| O 1V O 8 (O 4
2 3 «1=|@ 3| O W0 O 4 (O 8
310 1= (O 1 Q 7 2
4.5 «1= () 10 7 E'Q 2
5 1-1=|I] 7O 5 (O 2
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